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For years, scientists have been curious about Mars, the “Red Planet,”
and whether or not humans would be able to live there.

Recent research has proved that there is water on the planet, and in
fact, NASA is now planning for a manned mission to Mars in the 2030s.
Would you like to be a part of this great mission?

Then, there are a few things you might want to know about Mars.

On Mars, you'’ll get extra time in the day to do the things you want to
do — like sleep in!

Mars rotates at almost exactly the same speed as Earth, making its
days just 37 minutes longer than our own.

But that’s nothing compared to the extra time you’ll get in a year: the
Martian year is far longer, lasting 687 Earth days.

That means seasons on Mars are about twice as long as they are on
Earth.

For example, in one year you can enjoy about seven months of spring,
six months of summer, a little more than five months of fall, and only
about four months of winter.

The air on Earth is about 21% oxygen and 78% nitrogen, but the
atmosphere on Mars consists of 96% carbon dioxide and less than 0.2%
oxygen.

If you try breathing the air on Mars, you will quickly breathe your last
breath.

However, according to scientists at NASA, on Mars it is highly likely
there is still water on the polar ice caps and possibly under the planet’s
surface.

The water could be used to produce oxygen by splitting up the
hydrogen and oxygen atoms.



14 The polar ice caps are an average of three kilometers thick.

15 If they were completely melted, the Martian surface could be covered
with about 5.6 meters of water.

16 Mars gets about 60% of the sunlight we experience on Earth, and the
average temperature on Mars is minus 63°C.

17 If it were not for a shelter specially designed to protect you, you would
not survive the cold.

18 More serious is that giant red dust storms frequently cover the entire
planet, and they can throw dust up to 40 kilometers into the air and
last for months at a time.

19 Furthermore, Mars lacks the protective ozone layer we have in Earth’s
atmosphere.

20 Therefore, don’t forget to take some serious sunscreen with you, like
SPF 1000.

21 Otherwise, you would get severely sunburned there.

22 You don’t have to struggle to lose weight on Mars.

23 It has a gravity that’s only 37.5% of Earth’s, which means that if you
weighed 60 kilograms, you would weigh only about 23 kilograms on
Mars.

24 However, that is not completely good news because the reduced gravity
would be a serious problem for your skeletal system.

25 Normally, our muscles and bones have to work to stand up against the
force of Earth’s gravity.

26 But due to the reduced gravity on Mars, our muscles would quickly
shrink.

27 In experiments, rats sent to space lost a third of their muscle mass in
their legs within a few days.

28 Above all, you could enjoy the exotic scenery on Mars.

29 The Martian air has a permanent cloud of dust, giving the daytime sky
an orange color.

30 In addition, Mars is home to the highest mountain and the deepest,
longest valley in the solar system.

31 Olympus Mons is the tallest volcano in the solar system, reaching 25
kilometers above its surrounding plains.

32 Also, Valles Marineris is a giant system of valleys about the distance
from Los Angeles to New York.

33 Other attractions of the Martian scenery are the two moons, Phobos
and Deimos.

34 | am sure you, like Carl Sagan, would love to see this great scenery.

35 Maybe we’re on Mars because of the magnificent science that can be
done there — the gates of the wonder world are opening in our time.

36 Maybe we’re on Mars because we have to be, because there’s a deep
nomadic impulse built into us from hunter-gatherers.

37 And the next place to wander to is Mars.

38 But whatever the reason you’re on Mars is, I'm glad you’re there.

39 And | wish | was with you.
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01 When we talk about Impressionism in art, one name comes up more
than any other: Oscar-Claude Monet.

02 Born in 1840 in Paris, Monet did not come from a wealthy family.

03 His father was a grocery store owner and his mother worked as a
singer.

04 Many people know the name Monet, but they don’t know the man very
well.

16 - XISK(2)

05 Here are some interesting facts about him.

06 Monet started drawing at the age of 5.

07 His first drawings were of his school teachers.

08 He often filled entire school books with drawings instead of doing his
class assignments.

09 After his family moved to Le Havre, Monet became famous for his
drawings of the town’s residents.

10 Less well known is the fact that as a teenager his first interest in art
was caricature portraits.

11 At 15, he was known all over Le Havre as a caricaturist.

12 His reputation was so well established that from all sides people came
to him and asked him to draw caricatures for them.

13 Monet was a true family man.

14 He enjoyed painting many things, but he loved to paint his family the
most.

15 That’s one of the reasons why his wife is often shown in many of his
most famous paintings.

16 Another reason Monet may have painted his wife so often is that he did
not have enough money to hire models to pose for his paintings.

17 Monet’s wife is featured in his painting Women in the Garden.

18 There are three female figures in the painting.

19 Interestingly, all of them are his wife, Camille Monet!

20 At that time, Monet was so poor that he had his wife pose as all three
of the female figures.

21 Monet’s Impression: Sunrise is a painting of a view from his window.

22 He gave it that name because the goal was to create the feeling of a
harbor instead of just painting all the shapes that he saw.

23 A critic who disliked the painting wrote an article, “The Exhibition of
the Impressionists,” from which Impressionism got its name.

24 The article criticized his painting, saying it wasn’t even as good as
wallpaper.

25 Ironically, the term “Impressionists” quickly gained favor with the
public, and was also accepted by the artists themselves.

26 Even music and literature began taking on features of Impressionism.

27 Monet loved gardening, as he wrote, “Gardening was something |
learned in my youth when | was unhappy.

28 | perhaps owe it to flowers that | have become a painter.”

29 After Monet moved to Giverny in 1883, he himself built gardens and
spent his later life painting them.

30 These gardens were the main focus of Monet’s artistic production
during the last 30 years of his life.

31 He tried to express on canvas the constantly changing play of light and
reflections on the surface of the water.

32 In fact, many of his masterpieces were painted from what he saw in his
gardens at Giverny.

33 For example, one of his most famous pieces was a painting of the water
lilies in those gardens.

34 Monet suffered from cataracts for much of his later life.

35 During that time, he produced some of his most characteristic work.

36 Scientists claim that the disease blurred his vision, which influenced
his unique painting style, especially his later paintings.

37 A professor at Stanford University used a computer to recreate a
photograph of the same bridge in Monet’s Water Lily Pond as it might
appear to someone with moderate cataracts.



38 Surprisingly, the color and detail of the recreated picture look very
similar to those of Monet’s painting.

39 Nevertheless, Monet’s artistic style was well formed before his eye
disease affected his vision.

40 More important is that despite his failing eyesight, he continued to
paint.

41 This is when he painted Nympheas, one of his famous paintings of

water lilies.

42 Monet created countless works that are still loved today and many of

his works are in museums around the world.

43 If you get the chance to see more of his paintings, look at the emotions

in them.

44 Claude Monet changed art forever, and you can see that in every brush

stroke.
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01® 02® 03 land 04® 05® 06 ®
07 @ 08 @ 09®
10 What is worse, world population is estimated to reach
11 (1) we could save some time (2) O 12@ 130

14 ©@
15 (1) If it were not for the meat sauce, the dish would not be
completed.
(2) But for the iron, the world would not have its completed
structure.
(3) Without the mobile application, we could not watch the 4K
movie in the smartphone.
160,® 17@
18 (1) The tomato spaghetti is as delicious as the Chicago pizza.
(2) The black wallet is as expensive as the brown wallet[one].
190G
20 That means seasons on Mars are about twice as long as they are
21® 220®
23 (A) according to scientists (B) could be covered with
24 @ 250® 26 ® 27® 28®
29 if you weighed 60 kilograms, you would weigh only about 23
30®

on Earth.
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18 (1) People accepted the theory that universe was created by Big

Bang.
(2) Tom spread the rumor that Jane fell in love with Bruce.
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21 Less well known is the fact that as a teenager his first interest in
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26 (A) spent his later life painting them
(B) many of his masterpieces were painted
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07 What makes you think so? 08 ® 09 @ 100@
M@ 12 our going to 130 14 (1) that (2) his
15® 16 ®

17 (1) She looks at herself on the window.
(2) Last year, my grandparents went to Paris by themselves.
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